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Partitioning a Directed Line Segment

A directed line segnient AB is 2 scgment that represents moving feom point A Lo peint '
8. The following cxample shows how Lo use slope to find a point on 2 direcied line s ( ¢ -\ o-~.1 )
scgment that partitions the segment in a given ratio. !
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Find the coordinates of poinl £ along the
direeted line scgment AB so that the ratio
of APtoPBis3 02, . j/ -
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SOLUTION e (L dd -y 3
In order to divide Lhe segmeent in the ratio 3 10 2, think of dividing, or partitioning, ‘
the scgment inlo 3 | 2, or 5 congruent picoes. ( . o
(2§ ‘

Paint P is the point thal is i of ihe way from point A 10 point B.

Find the risc and run from point A 1o point B. Leave the slope in terms of risc and
run and do not simplify.

[AF m=8-2_6 ) 5 -~

slope ol AB: m 6-31°-3 " mun f@,‘(‘ . @ . - 7.
To lind the coordinalcs of point £, add g—of the run 7 I 166 8 - 3 e
1o the x-coondinale of A, and add i of Lhe sise o the .= o 6 = - 1) .
y-coondinate of A b 48 5.6 L2\ 2 \
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P So, the coordinates of £ are Y| 214]6] Bx )
3+ 18,2+36)=(4856).
The ratio of AP Lo PBis 3 10 2.
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In Exercises 36, find the coordinates of puint P along &
the directed line segment AR so that AP to PP Is the -
given ratio, (See Example [.) l - / 8
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